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I ndian Army Technical sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER TECHNICAL
TIME-1HR.- | QUESTIONS-50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

01. International Literacy Day is 05. Rajghat Qam is located on which river?
observed on Wmﬂmﬁwﬁlﬁ%
SARRTPIT TR fea™ Ha w=TaT wiTar 372 a. Narmada / et
b. Sutlej / Fagsl

a. 8th September
c. Betwa/ddd

b. 18th of October d. Chambal / T=a

c. 18th of September

d. 10th of October 06. The instrument for measuring the
altitude of celest.ial bodies is called

02. Line drawn on a map through a place %ﬁ?ﬂﬁ@ﬁﬁﬁmwﬁmﬁ
Z?ZICr;%SguaI height above sea level a. Spherometer / Epinfe

% ) b. Altimeter / 3R
Ao ﬁwﬁwmmﬂwﬁ c. Sextant/ ¥cT
Wit 919 aTelt YET /T Hed 3 d. Spectrometer / Waerfex
a. Isobars / 3TSHIER
b. Contour / gar= 07. The Frenph Revolution ended in
c. lIsotherms / gired us'l%'lg‘g';’—'ﬁﬁmﬁ?
a.
d. Isotopes / 3mgHc™ b e
c. 1789

03. Which of the following temple is located d. 1793
on the hills of Guwahati?

%‘“H}Hﬁgﬁquw%mw 08. Who was awarded Nobel Peace Prize
: in 20047
a. Ugratara / 3UdRT i Tad Nifd REPR | AaraT
b. Navgraha/7aJg ﬁfﬁﬁq i ¥
¢. Umananda / SHTg a. Yasser Arafat / TR 3Rbe
d. Durgeshwari / gifaRt b. Shirin Abadi / R TaTel
& _ c. Nelson Mandela / F& daar
04. The only swimming national garden d. Wangari Maathai | IR 1Y

of the world Keibul Lamjao National

Park’ is situated in < :
09. Which is the last month of National
gl |5"1‘7Tﬁ55|5 Ei“ﬁ"t"_'ﬂ%a%la%? 'iégsl Calendar of India?
Z"“GM"amp“ugr'q/ ; E@g%u@umm fEt 7gtT B
b. Mizoram / foeiR® a Chaitra /35

c. Meghalaya / B4re™d

. . Phal BTG
d. Nagaland / el b, Phalgdna ¢

c. Ashadha / 3muTg
d. Bhadra/ ¥s1
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10. Which type of soil retains maximum

11.

12.

13.

amount of water

P A fredt urht Ft siftreaw wEn #°t
b T@d

a. Black / <&

b. Clay /&

c. Red/¥s

d. Loam/@®

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 48,
what is the dividend?

TH fIUTSH HBIT H, YRThd S&T, faueis
=T | 12 0N SR UG | 5 T SIGT 7.
3R RV 48 g @ YIST 1 T2

4848

676

250

5800

oo oe

Which pair of rational number

lies between 1/5 and 2/5

gf¥Ag @ 1 B W ST 1/5 3R 2/5
o # ot 22

a. 262/1000, 275/1000

b. 362/1000, 562/1000

c. 451/1000, 552/1000

d. 121/1000, 131/1000

If v18225 = 135, then the value of
[\/182. 25++/1.8225++/0.018225 +

v/0.00018225] is
3[R V18225 = 1358, al
[V182.25 +/1.8225 ++/0.018225 +
\/0.00018225] foa1 grm?
1.49985
14.9985
149.985
1499.85

oo oe
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14. Presently the population of Rampur

15.

16.

17.

village is 625. If 4% increase in
population is expected every year,
find out the expected population at
the end of second year

SR TR § AR TG Pt FTAHSAT &Y
&, 3R 3R %% SIS g AT 9« @, af
SR ATA & 3 9P 98 DI TSI T
gt

766

667

675

677

oo o

In an examination, 40% students failed
If the number of failed students is
240, find out the total number of
students appeared in the examination?
IR Tem ¥ Yoo, g2 fAwa gu gl v
fawd 81 a1a 951 P T=T @ o, A
%ﬁ;ﬁ&nﬁ 39 91 Fo Tl P H=AT AT

’

a. 280
b. 560
c. 600
d. 500

A businessman has a 10%o loss in
selling a watch at Rs.360. If he wants
5% profit, find out the selling price of
the watch?

3R T HATURY 20% & THAM WR 3§0 FUY
T U uSt ST 7, 3R 98 W96 BT ATY
PTHAT 915 A1 39 98 vt fbad wua o
CERIARIE

a. Rs420

b. Rs415

c. Rs500

d. Rs450

If each side of a rectangle is increased
by 50%, its area will increase by

IR TS 3T BT YD Y& Yo% Tgal g, al
I9® &Fwd H feat geiasl gifiz

a. 125%

b. 150%
c. 200%
d. 50%
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18. 176 * 0.00125 is equal to
176 * 0.00125 SRTER 82
a. 0.022
b. 2.2
c. 0.0022
d. 0.22

19. How much time does a train, 75m long
moving at a speed of 60km/h take to
pass another train 100m long, moving
at 65 km/h in the opposite direction?
T 3 S B oy . wielt B 3T go fpeiiva
B I | T €Y & 1 98 200 A Tl AW
1 Q00 fHHi/d 3t 7ifar | faudia fezn & 7«
T8 8 S8 UR F¥A | fobaen wag At
a. 5555

b. 6.04s

c. 6.66s

d. 7.01s

20. 74 is divided into two parts, so that 5
times one part and 11 times the other
part are together equal to 454. The
parts are
¥ &I 39 YPR & Jemsil d faurfera fean
T % Ugd T-T B 4 AT H W SR
TN AT I 22 AT A W o d I Sl
TT 1 98 ¥YY STT. I8 &) ST T 72
a. 60,14
b. 14,60
c. 30,44
d. None of these

21. If 2x-6=8x+1, the value of x is
R R X -&=¢ x +3 §, A x BT UM 74

Bifora!
a. 9/
b. 52
c. 712
d. 32

22.20/3 + 61/4 + 15/4 - 37/5 is equal to
ROB+EY ¥+ WY -3/ YTRITR @
a. 259/15
b. 287/15
c. 277/15
d. 274/15
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In a football tournament, there are 87
players for 7 different teams. Each
team has at least 12 players. What is
the possible maximum number of
players for a team?

TS Pedrd gatde § o T # ¢ et 7.
IR TH AT EHH A 50 R At Fd e
& siftrean fEarst R &1 duTe=T a1
GINIE

13

14

15

21

oo o

360 people have food stuff for 7 weeks.
If a reinforcement of 60 more people
comes and the ex-endorsement bears
the same rate, in how many weeks the
food stuff will be consumed

3§0 AN & forW 3R b feAT & fore wama
WIS 8, AP ST o A SR MW,
Y fhan gl | TS g1 SIRm?

o 01 AW

How many students are there in a
Class if after filling 4 rows of seats

2 students remain standing and if 3
rows are filled, 9 students remain
standing

3R ¥ UFRTAT HEA TR R 90 @S ¥ 3 9l
IR A R TA TS @A 8, A PaTd
Fafraisa e

a 7

b. 26

c. 30

d 34
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26. A particle moves with a uniform

velocity

TP BT A AT E Tada1 § af

a. The particle must be at rest / %01 fRR
AR T §

b. The particle moves along a curved
path / %01 gHIGER A1 § 9 361 §

c. The particle moves along a circle /
HUT TS & 91 36T 8

d. The particle moves along a straight
line / &1 T et YT & 9 <61 &

27. If a particle covers equal distance in
equal time intervals, it is said to be
3R TS HUT GHH g8 G0 9077 § a7
ST g, dl BT
a. atrest/RRE
b. move with a uniform speed / T T
TR TAER

c. move with a uniform velocity / T&
T 37 & I 7T 8

d. None of the above / 18 I ®I5 off 75t

28. A quantity has a value of -6.0 m/s. It
may be the
TS U1 &1 4 &.0 HeX/AdHs g1 @ a8
HTAT T gRM?
a. speed of a particle / T &0 &1 i
b. velocity of a particle / T &U1 &I a7
c. acceleration of a particle / T &I &1

[CRU

d. None of the above / 378 T &5 +f 78f

29. In a circular motion, the

YA fa w2

a. direction of motion is fixed / 7ifc &1
fe=m T eI 3

b. direction of motion changes
continuously / TR Tfd &t fo=m &
afad glaT &

c. acceleration is zero / @RUI gldT §

d. velocity is constant / 3T RR graT 8
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30. The force of friction between two

bodies is

ofg &t axgait & S aforga 8 ot a8

a. parallel to the contact surface / ¥ud
e P AR §

b. perpendicular to the contact surface /
YUH g Y GHSIT ST 3

c. inclined at 30° to the contact surface
| Tudh TeTg § 300 TR FHhT g3N

d. inclined at 60° to the contact surface
[{0eh g ¥ 60° TR GebT g3

31. Machine oil is put between the moving
parts of a machine to
TR o @1 Tl 7= & gl & dig sTar
1A 82
a. To change the friction from Kinetic to
static / TTcroT TYUT ¥ SEaay RRR B &
ferg
b. reduce the friction / a¥01 &1 HH A &
ferg
. Increase the friction / a1 g & fe
d. Change the friction from static to
Kinetic / 801 &I fRRdT ¥ 7Ifas & §ed &
ferg

32. If a constant force acts on a body
initially kept at rest, the distance
moved by the body in time tis
proportional to
et fRR st # 36 Wit 9vg W R
FROY 9@ @M1 9 1 99 IR GRT 't
g ¥ 79 &1 T g3 fead srguifas
gRil?

a. T/<

b. T2/%02
c. T3/413
d. T4/<4

33. The momentum of a body of given

mass is proportional to its

e avg & T W YR @1 a1 fras
STUTfa® g2

volume / 3Adq

shape / 3R

speed / Tfd

color / &

o0 ow
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The principle of conservation of linear

momentum states that the linear

momentum of a system that

fpeit YT Haw & wRer & R wad

? B W HaT U yorel! @ 5

a. cannot be changed / SGaT g1 I Yebdl

b. cannot remain constant / RR =g 3@
Fahdl

c. can be changed only if internal forces
act / 3MTciRe §ell & ufTH 4 g1 dger o
TH &

d. can be changed only if external
forces act / Had 16} gl o SifAAgH
Y Fea o Yl

When a stone tied to a string is whirled
in a circle, the work done on it by

the string is

ST A 49 TP TR 3 99 TP g § YA
T g At SR gRT 39 URR W {5 wan e
1 Em?

a. positive / GHRTHD

b. negative / THRTHD
c
d

zero / g3
undefined / 3rafeyTtg

A porter with a suitcase on his head

is going up of the stairs of a flight with
a uniform speed. The work done by
the ‘weight of the suitcase’ on the
suitcase is

TP Fal U+ R IR Jewd fore faus #t
Higl T FReR Tif & =g ¥eT ¢ A gebd &
o §RT gebd W a1 Hrf wam ghm?
positive / GHRIHD
negative / AHRIHD

zero / 3
undefined / aRHIva

2o ow
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In which of the following cases, the

potential energy of a spring is minimum

fFrafafed 3 @ o9 8 ot Rufos s«

AT F?

a. When it is compressed / 519 a8 gwifed
g

b. When it is extended / I§ I g1 AT
g

c. When it is at its natural length / 5§ 98
3 U fareh S A R

d. When it is at its natural length but is
kept at a height h above the ground. /
19 98 ST MIpTie daTs IR 8, Afd
W & SW TS 4SS R 3@ TS

A rocket works on the principle of
conservation of

TS e b fhaas wvemr & Rigidl ™
BT T 82

a. angular momentum / S10T FaTT

b. energy /3l

C. mass/HR

d. linear momentum / Xfag T3

If the distance between two point

masses is doubled, the gravitational

attraction between them

afe 3 figall & YR & dra A g A B

??r ST df 39 S BT TE@THYT T N2
is reduced to half / 39 & &4

b. is reduced to a quarter / U d1UTS db
®H

c. becomes four times / TR [T

d. Doubled / Gt
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40. Lead ball falls through water more

41.

42.

43.

slowly than through air because

91 F HTHH &) a1 H ds & g Ui &

areqy ¥ warer O | Rt 8 e

a. the value of g is less in water / Ot H g
B IAT ST §

b. density of air is less than that of water
| §91 &1 O UM B} T B HH g

c. of the viscous force in water / =il &
A1 9 §

d. of the surface tension of water / Urit &1
Jag A a §

Any charge in matter that results in

the disappearance of one or more
substances and the appearance of one
or more substances, each having its
own set of intensive properties is known

as

oot ugrd & 3= & PRI IR

TH 1 T A e uerd qu ar R &t B,
AT AT FEA G

a. extrinsic change / aTgl URadH

b. intrinsic change / sffiaRe® dfkacdH

c. physical change / *ifds aftad=

d. chemical change / IMRAM® Sgard

Which of the following is a

chemical change

0 § INEE sfiforar o1 82

a. Heating of iron to red hot / dig &! ad
B db TRH HRAT

b. Magnetization of iron piece / dig &
THS D JADIDHRU

c. Rusting of iron / &g ¥ Si& @@ T

d. All of the above / SUR & gt

Which of the following is not a

chemical change

g & @ F19 amafae sififear T8 32

a. Combustion of fuel / 347 & g4

b. Electrolysis of acidified water / 3f=id
g1 &1 fagygd sruee-

c. Oxidation reaction of cells at anode /
TS R PHIRG13 o HTaiiur ufafehar

d. Glowing of a platinum wire / T&
wifeTH IR &t I8
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44, \Which of the following is always

45.

46.

47.

48.

accompanied during a chemical change

o ¥ 9@ Tmafe sifufear & SR ga=m

BT 87

a. Evolution of light / TeT=1 &1 (AdberT

b. Evolution or absorption of heat / T#f
CIRREAEIRAIRE CRINUASE |

c. Evolution of heat only / drae Tf &1
IREQNGI

d. Absorption of heat only / %ad THf &
SR

Common salt is obtained from
seawater by process of

T 9 A ATYRYT THS YT HA B
wfthar &) 71 Fgd 8

a. Sublimation / 3= &= &1 fopa

b. Evaporation / ariiehror

c. Crystallisation / feheceitnur

d. Filtration / & &1 ®H

Water, on passing over rocks, becomes
hard because it dissolves

U, el ToR B 9% a1 o118, e
W firerdr 82

a. Calcium carbonate / Hfcxy FraiHe

b. Sodium chloride / Sifsad daRSS

c. Sodium carbonate / Qif$aH FHEHc

d. Sodium phosphate / Sf$aH R

Which of the following is liquid at
room temperature

o B A FIR F I R a_d AT
TEA1R?

a. Mercury /U1

b. Bromine / it

c. (a)and (b)

d. Nickel / fAoa

Aniline can be easily purified by

the process of

PIAAR DI AT A G HA DI UiohaT B
Ll ﬂ%%?

steam distillation / HTT 3¥aq
fractional distillation / fif1e 3Fa=
sublimation / 3= 1 &1 o
crystallization / fereeeiipRor

po T
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49. Electron was discovered by 50. Anode rays were discovered by
gaae B @i foa @t gt TS foon 3t @i fea ot iz
a. Crookes / i a. Goldstein / M
b. JJ Thomson / S & 41— b. J Stanley / S et
c. Henry/gad ¢. Rutherford / I&x®IS
d. Rutherford / T&®wIS d. Thomson / e

Answer key

1.(a) v 2. (b) v 3. (b) v 4. (a) v 5. (c) v 6. (c) v 7. (3) v 8. (d) v 9. (b) v 10. (b) v 11. (a)
v 12.(3) v 13. (b) v 14. () v 15. (c) v 16. (b) v 17. () v 18. (d) v 19. (a) v/ 20. (a) v 21.
(d) v 22. (d) v 23. () v 24. (d) v 25. (c) v 26. (d) v 27. (b) v 28. (b) v 29. (b) v/ 30. () v/
31. (b) v 32. (b) v 33. (c) v 34. (d) v 35. (c) v 36. (b) v 37. (c) v 38. (d) v 39. (a) v/ 40.

(c) v 41. (d) v 42. (c) v 43. (d) v 44. (b) v 45. (b) v 46. (a) v 47. () ¥/ 48. (a) v/ 49. (b) v

50. (a) v

Jai Hind
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